
*ANSWERS 

1a. 5 ones and 5 tenths; 41.5  

1b. 1 ten and 9 ones; 22.7 

2a. True  

2b. False. 83 – 2.8 = 80.2 

3a. 104.9mm 

3b. £26.40 

4a. 12.7g  

4b. 10.4cm  

5a. > 

5b. > 
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6a. 203.84  

6b. 430.26 

7a. False. 37 – 3.13 = 33.87  

7b. True  

8a. 261.02cm  

8b. 950.15g 

9a. £104.60  

9b. 147.6g  

10a. < 

10b. > 
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11a. 634.64  

11b. 451.03 

12a. True  

12b. True 

13a. 515.32g  

13b. 522.43cm 

14a. 36.38s  

14b. 462.48g  

15a. < 

15b. > 

 

CHALLENGE 

7a. 29.37m and piece A  

7b. £41.99 and the watch 

8a. Bobbi is correct because 664 + 79.15 = 743.15  

8b. Kristof is incorrect because 197.03 + 135 = 332.03. The missing digits are 9, 0, 3 and 2. 

9a. Vanessa is correct because they ran a total of 981.12m.  

9b. Jenny is correct because the toys weigh a total of 987.56g.  

 


